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A,B ⊆ Ω

P(A) ≥ 0, ∀A ⊂ Ω

P(Ω) = P(ω) = 1

If A,B disjoint, then P(A ∪ B) = P(A) + P(B)

P(A) =
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P(A ∩ B) = 0

P(card is black ∩ card is red) = 0

P(card is black ∩ card is Queen) > 0

P(A ∩ B) = P(A)P(B)
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A,B

∣A ∪ B∣ = ∣A∣ + ∣B∣ − ∣A ∩ B∣

A,B ⊆ Ω

P(A ∪ B) =

=
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⇒ P(A ∪ B) = P(A) + P(B) − P(A ∩ B)
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f (x) = P(X = x)
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Ω = {1, 2, 3, 4, 5, 6}
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p = 0.6

P(7 misses, then 1 make) = P(miss 1st) ⋅ P(miss 2nd) ⋅ ... ⋅ P(miss 7th) ⋅ P(make 8th)

= 0.4 ⋅ 0.6

= (1 − p) p
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P(X = k) = (1 − p) pk−1
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P(everyone has a unique birthday) + P(at least two people share a birthday) = 1

⇒ P(at least two people share a birthday) = 1 − P(everyone has a unique birthday)
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